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Find the discriminant and then take its square root.
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13, Factor completely: 6x° - x° - 30x = 3X(FK = =/0) 5;-}
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15. Factor and check 8 + 125 check (2xt+5)(4X 20X 125)
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1, Justify that YA ®
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Express in simplest radical form.
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1-11: Solve Quadratic Equations Using the Quadratic Formula

If we have a quadratic equation that is not easily factorable, we can solveit by using the
quadraticformula. Trysolvingthisby factoring:  3x2+5x-1=0 ¢ =3

What do younotice? ‘:jm3 (ann0+ usg 'onj S 5

The Quadratic Formula

If ax? + bx + ¢ = 0 (a # 0), then the solutions, or roots, are

_ —b+Vb—dac
= - X
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2b A BbUZc (To music)
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You should recognize the expression under the radical = -"h

We call that the S/ yoninadt andwill findit first.

Let’s use the quadratic formula to solve the following equation. Find the
discriminant first.

1. 3x2+5x-1=0
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Find the zeros of the functions or the roots of the equations using the
quadratic formula. Leaveall solutions in simplest radical form.
Note: Some canbe solved by factoring, but we will use the quadratic formula.
2. f(x)=x2+8x+7 3. -9=x2+6x
2 “+] -+
Ox*+87:0 D .
@ a:l by X lxe > O
i ® o= b:g c:q

b?-qac ‘(%)‘-?(l)(’;‘) bz-um~ gc,)‘-%(f\(ﬁ)
®s< ELJ‘G
TR $- -1 _i @ x-= —(9“\}_ -

X8t 0 23

% x:-‘dlz—ié @ &

S T

Aug 28-12:39 PM

4. 3(x-2)2-4=0
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You canuse the quadratic formula to solve real-world problems modeled by
quadratic functions.

6. Inashotput event, Jenna tosses her last shot from a positionofabout 6’ above the
ground with an initial vertical and herizontal velocity of 20 ft/sec. The heightofthe shot
is modeled by the function h(z) = -16¢* + 20t + 6, where t is the time in seconds after the
toss. How long does it take the shot to reach the ground? Round to the nearest tenth.
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